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The ionic mobility of an ion is
given by :

(A) A, +96500

(B) A, %x 96500

(C) A, +96500

(D) A, — 96500

If u. is the speed of the cation and
U, that of anion, the transport
number of cation is given by :

(A) _He
(B) _Ha
(C) _He

D) —He_
( ) Hatlc

For ternary salt.
Where K, is solubility product

and S is solubility :

(A) Ksp = §?
(B) Ksp =53
©) Ksp = 483

(D) K, = 16S3

Uh 3T B D Tiqierar e
Y GRT ol Ol @

(A) Aq + 96500

(B) Aq X 96500

(C) Aq +96500

(D) A, — 96500

IS p, DA B A TN op, TIRE

B T B, T DERF DI SRAUR G
B

(A) —=

(B) —t—

(©) ===

(D) &

3l ofaur & forv :

Wl K, & geial U e S a0
@ g & -

(A) Ksp = §?
(B) Ksp =53
©) Ksp = 453

(D) K, = 16S3
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4, The sum of ionic conductances is 4. AN ATIhdl &7 I 2dl & ¢

written as : (A) A,
(A) Ay B) A,
B e ©
©) wy D) K,
D) K,

5. if the distance between the 5. T T golaeIe Bl @ 2cm AT 3D
electrodes is 2cm and area of 9 B 8% 4om=2 ¥ 99 TR A
crossectlc.)n is 4 cm™2, then the cell Rieri® 21T
constant 18 :

(A) 0.5 (A) 0.5
(B) 0.2 (B) 0.2
(C) 2 ©) 2
(D) 8 D) 8

6.  The conductivity of Ilem™3 of an 6. U@ 3Mgcd & 1cm™3 fafermd @
electrolytic solution is known as : ITelehd] Bl HEd &
(A) Equivalent conductivity (A) el @Telddl
(B) Molecular conductivity (B) 3MM[fder @Telehll
(C) Specific conductivity (C) faR¥re arerdhar
(D) None of the above (D) SWI ¥ Plg Tl

7. Debye-Huckel theory is applicable 7.  fSas—gda & Rigld o] 21T &
to: (A) CH;COOH
(A) CH;COOH (B) KCN
(B) KCN (C) NH,OH
(C) NH,OH (D) KNO,

(D) KNO;
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8.  Ostwald’s dilution law is not 8.  3iRcdlesd &1 aqdl (" N T8
applicable to : 2
(A) CH3;COOH (A) CH;COOH ¥
(B) Kcl (B) KclH
(C) KCN (C) KCN ¥
(D) NH,OH (D) NH,OH #

0. Molten Nacl conducts electricity 9. foere g3 Nacl ﬁ’gﬁ qfeld XAl T,
due to presence of : fy= o SuRefd & HRoT
(A) Free ions (A) WdIF AT
(B) Free electrons (B) ¥&dd geldgd
(C) Free molecules (C) wdd 3
(D) Free atoms of Na and cl (D) Na @ cl & WdA URHTI]

10.  The unit of equivalent conductivity 10. gqq[q‘ﬁ D DI IS & :

Is : (A) ohm™lcm™2eq
(A) ohm™ cm ™ eq (B) ohm™lcm?eq
(B) ohm™lcm?eq ©) ohm-tem-!
(C) ohm™cm™

(D) ohm-lemeq-! (D) ohm™lcm?eq?!

11.  The solubility of iodine in water is 11. 3R & g § ﬂﬂﬂ?ﬁﬂ?ﬂ 0.8g/lit
0.8g/lit , If the partition 21 Y e ccl, ¥ EE 7
coefficient of I, between W g2 3 I, # ccl, 3 WW
water/ccl, is 82. The solubility of s
I, inccly is : _

(A) 10254/t (A) 102.5g/lit
(B) 65.64/lit (B) 65.6g/lit
(©) 0.009g/lit (C) 0.009¢g/lit
(D) 81.2g/lit (D) 81.2g/lit
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12.  Which of the following statement 12.  faavor f99 & fo0 &9 91 $F Terd
is false for distribution law ? 39
(A) :zzlt):jture must remain (A) T ReR T TR
(B) The concentration of the (B) faem® @1 W I&d e
solute in two solvents must LERIRC Y
be kept very high (©) o Re sy W SEl
C) The two solvents must be
© mutually immiscible e
(D) The concentration of the (D) e @l wr=al < feremart
solute in two solvents must i dgd dH BT @3y
be very low
13.  Distribution law cannot be applied 13.  meH we f= # faaRa et 8 @
for the system in which I, is I IR frge AT T e i
distributed between :
(A) H,0 T ccly
(A) H,0 and ccl,
(B) H,0 and CS, (B) 9Tl I CS,
(C) H,0 and Ether (C) UM qoI $2R
(D) H,0 and alcohol (D) U T 3chlga
14.  For an ideal solution : 14. ey ffora & foru -
(A) AHpix =0 (A) AHp =0
(B) AHp = 0 (B) AH,,; — 0
(C) AHpix <0 (C) AHp <O
(D) AHpi 20 (D) AH,,;; =0
15.  The dissociation of CaCO; is a : 15.  CaCO4 @ fdmed €
(A) One component system (A) TD Jagq fAer
(B) Three component system (B) dF 3@uq e
(C) Two component system (®) o7 3[qud Ma™
(D) two phase system (D) 3 HeT e
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16. In  lead-silver  system  the 16.  oie ReR Mo ¥ Tem Hifas ﬁg W
percentage of silver at eutectic fRyee” o7 Ul &
point is : A) 0%
(A) 0%
B) 2.6% (B) 2.6%
(€) 100% (C) 100%
(D) 97.4% (D) 97.4%
17. At eutectic point, a system has : 17. oA Bifds ﬁﬁ W for #
(A) Only two phases (A) T el B B
(B) Highest melting point (B) R&dH e s
(C) Uncertain composition (C) IR e
(D) Minimum melting point D) SN ﬁg
18.  Henry’s law is not applicable to : 18. & & MIH a1 el B @
(A) CO, (A) CO, ¥
(B) H, (B) H,#
© 0, ©) 0%
(D) He (D) He#
19. In one component system, the 19. TP Jd Fer § awmeen § ol
maximum number of phases which S dTell el @ Gl &
can exit in equilibrium at a point is (A) 0
A) 0 (B) 1
B) 1 () 3
<€ 3 (D) 2
D) 2
20. In the water system, the triple 20. UMl & fo® & forv 3@ ﬁg W HMH
point has the values of : 20
(A) 0.0075°C,4.58 mm (A) 0.0075°C, 4.58 mm
(B) 0°C,1atm (B) 0°C,1atm
(C) 0°C,4.58 mm (C) 0°C,4.58 mm
(D) 0.0075°C,1 atm (D) 0.0075°C, 1 atm
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21. When the solute undergoes 21. o Hfold U Hlcld i NS[] g, TR
association in one of the solvents, .
foreRoT from RAferT &1 ST 2
the Nernst distribution law is
modified as : (A) \/C—z X C, =Kp
A C,XxC, =K
(A) JCxC =Ky ®) ¢ =G K,
B) (= \/?2 Kp
(C) C,=K,xC?
(C) Ci=Kpx (3
(D) C, =K x C3 (D) €, =KpXxC;
22. In the equilibrium 2A+3BS 22, WRIGRT H THH- 24+ 3B S
3C + 2D an increase of pressure
b 3C + 2D, T F T W
will :
(A) Shift the equilibrium towards (A) TRITeReT a7 R BT I §
the left (B) SRR SRiT &R & S &
(B) Shift the equilibrium towards
the right (C) IS Yd &l Bl
(C) Have no effect (D) SRITT § T 8t
(D) None of these
23.  The distribution law is applied in ~ 23. faaxvr o9 MBS BT B
the : .
A) H,50, &l I X R
(A) Contact process for the (A) H,50, ( )
manufacture of H,S0, Frede Ay grT
(B) Parke’s process for the
extraction of Ag (B) Ag @ frar A ufow fafdy gw
(C) Haber’s process for the (©) NH, ®T f o 398 R g
manufacture of NH;
(D) Deacon’s process for the (D) Cl, @ {417 < fafdy g
manufacture of Cl,
Series-D B.Sc.—142-N Page - 8



24. The temperature at which two 24. 98 d™ R W & FIpic fafere t@
conjugate solution merge into one TR H AAdR & W I 8, dEl
another to form one layer is called: SIS
(A) Critical solution temperature (A) pifae faferm am
(B) Critical temperature (B) ®ifds dm
(C) Boyle’s temperature (C) dad am
(D) Inversion temperature (D) SIS dTd

25. The liquid mixture which distill  25. el %01 S afad oxar & a9 &
with a change in composition are gRqdT & 1 Hel SIdl &
called : (A) TAIEIE WS
(A) Azeotropic mixture (B) Rrateifies s
(B) Zeotropic mixture
(C) Equilibrium mixture ©) W{m fﬁ%]UT
(D) None of these (D) S il T

26. The variation of vapour pressure  26. a9 419 &I a9 & W YRddT o
with temperature is given by : ST
(A) Van’t Hoff isotherm (A) TTEH S IFRISEE]

(B) Van’t Hoff isochore (B) dFeETH AEABR a
©) Clausius—Clapey.ron equation © T B NE—_
(D) Law of mass action

(D) fsa A 99 9

27.  Which of the following equation is ~ 27. &4 AG &1 99 < a9 W a1 a1 8
used to calculate the heat of qg Affhar & ™7 ST BN B forw
reaction, when AG is given at two fore lYeRT BT YA Ry ©
temperature : (A) W—W@E\Tﬂ T
A) Gibbs-Helmholtz equation 9
EB; Clapeyron equationq ®) W e
(C) Kirchhoff’s equation (C) it T
(D) None of these (D) S A 3 el
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28.  The equation @ s 28 &4 , STHIRYT HEl oIl @
dT — T(V;-Vy) T — T(Vo—Vy)
called : (A) ToaTRT FHHRoT
(A) Kirchhoff’s equation (B) TATIRRI—TolURIA HIHROT
(B) Clausius-Clapeyron equation ©) AreA—oraIees] FHERT
(C) Gibbs-Helmholtz equation D) = @ ‘
(D) Clapeyron equation
29. The efficiency of a reversible 29. 27°C T 127°C R &R =4 dIcl
engine working between 27°C and SHAUTT o1 AT e ©
127°Cis : (A) 50%
(A) 50% B) 75%
B) 75%
(C) 100%
(C) 100% 550,
D
(D) 25% D) °
30. The entropy change during the 30.  Ud 3 % 9 I H 0°C R R &
transformation of water for 1 mole SR T TRad §
of ice at 0°C s : (Latent heat of fusion of ice = 80 cal
(Latent heat of fusion of ice = 80
per gem)
cal per gem)
9 (A) 0.87 cal deg mol™?
(A) 0.87 cal deg mol o
(B) 10.25 cal deg mol-1 (B) 10.25 cal deg mol
-1 -1
(C) 5.27 caldeg™ mol™?! (©) 527 caldeg™ mol
(D) None of the above (D) SR # PIE Tl
31.  The entropy of a pure crystal is  31. g &I o T N g AT R,
zero at absolute zero. This is
g B ¢
statement of :
(A) Zeroth law of (A) W Tl &1 g 159
thermodynamics
(B) First law of thermodynamics (B) &S A
(C) Second law of (C) o1 e &1 fgeha o
thermodynamics
(D) Third law of thermodynamics (D) SO Tl BT e
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32.  The entropy change when 5 mole 32, ey B 5 Al 4 WfieR ¥ 40 wlie]
of an ideal gas expands from a TR # 27°C R UMl gRadd §
volume of 4L to 40L at 27°C (R = 2 cal deg=" mol™)

— -1 -1y iq -
(R =2caldeg™ mol™)is: (A) 6909 cal deg=! mol™?
-1 -1
(A) 6909 caldeg™ mol (B) —6909 cal deg~! mol™?
B) —6909 cal deg~! mol™?
®) catdeg —mo (C) 23.03caldeg=tmol™?
(C) 23.03caldeg=tmol™? R
(D) —23.03 cal deg™" mol
(D) —23.03 cal deg~* mol™?
33.  When water is cooled its entropy : 33. /9 UMl @I ST AT O ® a1 s9d
(A) Increases Ol &
A) qE@ R
(B) Decreases (&)
(B) Tl @
(C) Remains the same
(C) ReR & B
(D) Becomes zero (D) I 2 o &

34.  Correct unit of entropy is : 34, UM @ 3R B

(A) JK 1mol™? (A) JK 1mol™?

(B) K] mol™! (B) K] mol™!

(C) K] mol (C) K] mol

(D) None of the above (D) SR ¥ Plg Tl

35.  The variation of free energy with ~ 35. A <dI9 WX Hdd ol & A9 & T
temperature at constant pressure is uRads f= ¥y gRT § ¢
given by the relation : (A) dGp =S dT;

(A) dGp =S dTp (B) dGp = —SdTp
(B) dGP =-S5 dTP G _
© (&) =s © G, =
or/p (D) SWIE ¥ IS el
(D) None of the above
Series-D B.Sc.—142-N Page - 11



36. The change in free energy is a  36. Hdd Sl # gRacH, A9 T
measure of : (A) T Bl uRaaH
(A) Net change in enthalpy (B) SRS ot & ol TRad
(B) Net change in internal energy ©) T B )
(C) Net work done : :
(D) None of the above (D) SR F DI T
37. Bomb calorimeter, is used to 37. 99 doRMIeY Bl TN T @ 9
determine : SR H fbar I
(A) Enthalpy of combustion (A) Sgo T
(B) Enthalpy of formation (B) W (fFmfon) v
(C) Enthalpy of reaction (C) rffsrar T
(D) Enthalpy of neutralisation (D) SETAFIGRYT Ted)
38. The enthalpy of combustion will  38. I TIdl &1 A BRI
have a : (A) I HE
(A) Zero value (B) €% A
E]z; Ililositit\.le Vahlle (C) TP T
egative value :
(D) None of the above (D) SR F DI T
39.  The variation of heat of reaction 39.  fAfhaT BT AU & AT 959 B
with temperature is given by : (A) g q37 a7
(A) Law of mass action (B) dIEh THGR
(B) Van’t Hoff equation ©) T R N
C) Kirchhoff’s equation
ED; Hess’ Law ’ ®) ¥ a1 frr
40. The enthalpy of neutralisation of a  40. W% 3 T A% &R DI IETATG
strong acid and strong base is : T B
(A) Less than 13.7 (A) 13.79 &9
(B) Greater than 13.7 (B) 13.7 9 3R&
(C) -13.7 kcal (C) -13.7 keal
(D) 13.7 kcal (D) 13.7 kcal
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41.  In the reaction : 41.  fafpar
C(s) + 0,(g) — CO,(g) +94.5 C(s) + 0,(g) = CO,(g) +94.5
kcal,94.5 kcal is : kcal, 94.5 kcal % :
(A) Heat of formation of CO,(g) (A) €O, T & GRS
(B) Heat of solution of CO,(g) (B) (0, S A ST o
© Iggz:t(g)of combustion  of (©) €O, ¥ % T T
(D) Heat of reaction of CO,(g) (D) €O, ™ Sl
42.  Which is correct equation of AH ~ 42. AH T AE & folu IUger FHIHROT &
and AE ? (A) AH = AE + nRT
(A) AH = AE +nRT (B) AH = AE + AnRT
(B) AH = AE + AnRT (C) AE = AH + AnRT
(C) AE = AH + AnRT (D) AE = AH + nRT
(D) AE = AH + nRT
43. If the heat of formation of a 43. IR &N I & BEGT S
compound is —100K]. Its intrinsic ~100 KJ 2 TP Fisiised ol gt
energy will be : (A) 50 K]
(A) 50K]J
(B) —=50K]J
(B) —=50K]J
(©) —100K] (C) —100KJ
(D) 100 KJ (D) 100 KJ
44.  During a process, the temperature ~ 44. Ud (&R H Y G99 &1 ©, I8 &
remains constant, It is known as : (A) FHaUY e
(A) Isothermal process (B) faRies fem
B) Adiabatic process Ty
EC; Isochoric II))rocess (©) R ﬁil;ﬁmm
(D) Isobaric process D)
45.  During Jule-Thomson expansion  45.  S[el-F - TR HUe omeel I @
of an ideal gas, the temperature : dm :
(A) Increases (A) T8
(B) Is zero (B) X &
(C) Decreases (C) bcdr g
(D) Remains same (D) Rer & g
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46. The work done during an  46. JAAY W A I & n Aed & TR
isothermal expansion of n moles of SRT foar T B
an ideal gas is given by : P,
(A) W =nRT log—=
(A) W =nRTlog== e
o (B) W = RTlog=
(B) W =RTlog-} Pz
. (C) W =nRT log2
(C) W =nRT logV—2 1
1 Vo=V
_ D) W = nRT log>—2
(D) W = nRT log 2=2 D) Sv—v,
Vi-V;
47. The heat of reaction at constant  47. ReR A9 W Affhar S©T © -
pressure is given by : (A) AH
(A) AH (B) AE
(B) AE (C) AS
(©) AS (D) AG
(D) AG
48.  Jule-Thomson process is : 48.  Sei—AmmHd fem & -
(A) Isobaric (A) aredr IRe
(B) Isochoric (B) edE R
(C) Isoenthalpic
C) 3mEal gfeqd
(D) Isochoric and isobaric both © v
(D) 3Tl BIRG T A IR
Ciall
49.  The difference in the values of C,  49.  Cp T C, @ HF &7 3K & :
and Cy is given by : (A) nR
(A) nR R
B) */
®) R/, c 3R2
(©) 3R ©
(D) R D) R
50. According to first law of  50. &M APl & UM RE B AR g
thermodynamics is : (A) AE =q+w
A) AE =
(A) q+w (B) AE=q—w
(B) AF=a—w C) AH = AE —
(C) AH = AE —w () AH =AE—w
(D) AH = AE +w (D) AH =AE +w
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51.  If u. and pg are the speed of cation ~ 51.  If¢ IRMIT G TIRA & T p. T pg g
and anion, them the speed ratio (r) SERIGEE! 3T 21T
will be given by : A) 1= He
(A) =1t e
Hc (B) r= %
(B) r=1T- He
" ©) r=:=
(C) r = j 1-ug
. Ha
_ _Ha D) r=_—-
(D) r = 1—1e 1-pc
52. In water line corrosion, the 52. UM @ TR ¥ eRUT, AfdHaH HET H
maximum amount of corrosion &R BT 2
takes place : (A) UFI @ a8, SW drel ddg @
(A) Along a line just above the . En?rﬁ
level of the water meniscus R e
(B) Along a line at the level of (B) U %1 WA drell <AgT B W
the water meniscus (C) Ul @I </ arell o3 & e,
(C) Along line just below the T arel
level of the water meniscus D) N N
(D) All the bottom of the vessel
53.  The addition of hydrazine hydrate ~ 53. RO dIRY H EESoiA ggge @
to corrosive environment : e W
(A) Retards anodic reaction (A) s s 9 B &
(B) Prevents diffusion of protons ®) o @y B W B ad
to cathode s
(C) Retards cathodic reaction by
o (C) RIS & TH D DANSDH
consuming dissolved O,
(D) Increases H, over voltage 1 A & ( é)
(D) H, &1 IS decol 91T 8
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54.  The value of pH + pOH is : 54.  pH+pOH & A & :
A) 1 A) 1
(B) 14 (B) 14
© 0 (C) 0
D) 7 (D) 7
55. Ifaspoon of Cumetal isputintoa  55. 3T Cu 91 @ I™4 &I FeSo, &
solution of FeSo, then : faferes & w@r oy,
(A) Cu will precipitated out (A) Cu 3@&MT & SR
(B) Fe will precipitated out (B) Fe adifid & s
C) Cu and Fe both will : :
© precipitated out (€) Cu & Fe R ?ﬂ‘c@fﬁﬁ B S
(D) The reaction is not possible (D) P e T &
56. Heat of a reaction can be 56.  3rfafehar & uReferd & & Hadl ©
calculated by : (A) AH, + AH, = ACp(T, — Ty)
(A) AHp +AH, = ACH(T; = Th) (B) AH, + AH, = ACo(T, + T)
(B) AH, + AH,; = ACp(T, + Ty) (C) AH, — AH, = ACy(T, — T)
(C) AH, —AH, = ACp(T, — Ty)
(D) AH, — AH, = AC(T, —T,) (D) AH, — AH, = ACp(T, — T5,)
57.  Rusting of iron is : 57.  ©H G
(A) Enhanced by wet air (A) +H BT g1 dg Ol g
(B) Prevented on coating with Zn B) R @1 (@) wRa A §
(C) Retarted in the presence of (C) Yol BU ofavll | ¥ &l ol @
dissolved salts (D) I 1 @dd) Mg & aR o
(D) Prevented, if the article is ST & A1 &4 &1 Wil © (Fahdll @
connected with a wire of Mg IT wPHMAC 3T B)
58.  Corrosion is an example of : 58.  &RUT Ud SN B ¢
(A) Reduction (A) U=IgT al
(B) Oxidation (B) 3iTaRIBR Bl
(C) Electrolysis (C) SATSIAIRT &
(D) None of the above (D) SWRIad H IS Tl
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59.  The rusting of iron is catalysed by 59. g # O AR = gRT Bl B
which of the following : (A) Fe
(A) Fe (B) Zn
(B) Zn
© o, ©) 0,
(D) H* (D) H*
60.  Electrochemical corrosion can  60. ﬁ'gﬁ TR &RV dad 9 9RIT g,
occur only if :
(A) Oxygen is present in contact o
with metal (A) g & TP 7 0, qﬁ\—i—d a
(B) Air is present in contact with
metal (B) %T@E%Wﬁmwﬁ
(C) Liquid medium is present in ©) & wd § g A A
contact with metal
(D) None of the above (D) Gﬂ?j‘cﬁ i g el
61.  Corrosion in essence is a process ~ 61. Y H &RV (Mam) Ay 7 -
of : (A) iR
(A) Oxidation (B) =
(B) Reduction ©) R
(C) Electrolysis : .
(D) None of these ) W A @l 7
62.  During corrosion in wet : 62. ¥H &RU H :
(A) The cathodic part under goes
oxidation (A) P fewm W@ BT &
(B) jeh;u(c:ztoh;dlc part under goes ®) Y S N
(C) The anodic part under goes ©) s e amEid g &
reduction
(D) The anodic part under goes (D) TS fewar sffeddiara g @
oxidation
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63. Metal at the top of electromotive  63.  ScldgMIfCd RG] # grq @l W
series is : e B &
(A) Most Noble (A) 3MerHdH 3Afsha
(B) Most active (B) ifrpaw afsha
(C) Least active (C) &4 I BF Ay
(D) Most stable (D) orfree <o)

64. The Hydrogen electrode is dipped  64. H, TAICTS DI ORI pH =3 T dM
in a solution of pH = 3 at 298K. 298K 2 Udh faformd # §—Gﬁm T 2
The reduction potential of the T TITIE T AT T BRI -
electrode is : (A) -0.177V
(A) -0.177V B) 177V
(B) 177V ©) 1.1V
© LIV (D) 0.051V
(D) 0.051V

65.  Which is not true for a standard H, 65. H, & HAFD sﬁ‘c@@ 7 forw DF Al
electrode : HIT I el &
(A) Temperature is 298K (A) T & 298K
(B) H, ion concentration is 1M (B) H, 3 Arsdl 2 1M
(C) Pressure of H is 1 atm (C) H, &I T§19 1 atm &R
(D) H, gas is not absorbed by pt (D) pt electrode §RT H, gas

electrode 3raenfie e e 2

66. The standard reduction potentials ~ 66. Cu?*/Cu TN Cu?*/Cu* & fou
of Cu**/Cu and  Cu®*/Cu? are AG TR fM@ +0.337 @
+0'337d and +?'1§3 Zog hthlef +0.153 volt &1 Cu*/Cu &4 ¥ B
standard potential of Cu™/Cu ha
cell is : " / ferg ey fopra € -
(A) 0521V (A) 0521V
(B) 0.492V (B) 0.492V
(C) 0.831V (€) 0831V
(D) 0.285V (D) 0.285V
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67. The pOH of a solution is 4, the 67. U fAferma forger pOH H1 4 g, E5sl
H™ ion concentration will be : ffers & H* 3T arear arfl
(A) 10° (A) 106
(B) 108 (B) 108
(C) 10710 (C) 10710
(D) 107* (D) 10~*
68.  Which of the following solution  68. 3= # & faformd ey qwx fafore
when mixed will produce acidic 21T ?
buffer solution ?
(A) NaCl+ NaOH
(A) NaCl+ NaOH
(B) CH;COONa + CH;COOH
(B) CH;COONa + CH;COOH
(©) H,S0, + Na,S0, (C) H,S04+ Na,S0,
(D) NH,Cl+ NH,0H (D) NH,Cl+ NH,OH
69. The concentration (g ion lit™*) of  69. OH @A &I HA¥sdl (g ion lit™1)
OH ions in neutral solution is : dexe fafers § &Y
(A) 1x1077 (A) 1x1077
(B) 1x10%7 (B) 1x10*7
(C) 1x10% (C) 1x 10
(D) 1x10714 (D) 1x10°14
70.  An aqueous solution of K,CO3is?  70.  K,CO, &I Seir faferas grm ?
(A) Acidic (A) 3
(B) Highly Acidic (B) 3RS Ielg
(C) Neutral (C) T
(D) Alkaline (D) &M
Series-D B.Sc.—142-N Page - 19



71. At 90°C of pure water has H;07 = 71.  90°C R Y& UMl & folU H,0%* =
10~%mole/lit. What is the value 10™%mole/lit B| 90°C W H& foly
of Kw at 90°C : Kw &l 1 81T ?

(A) 1077 (A) 1077
(B) 107° (B) 107°
(C) 1072 (C) 1072
(D) 1074 (D) 107

72.  The pH of 0.01M solution of weak ~ 72. U&% HE AMMIEE 7T & 0.01M
monoprotic acid which is 1% fafera S 1% oM i 8, pH @
ionised is : AN BT 7
(A) 11 (A) 11
B) 3 (B) 3
O 1 O 1
(D) 6 (D) 6

73. The dissociation constant of an 73. TP JF HA @ fdged Tﬂ‘cﬁ 1 X
acid HA is 1 X 107>, The pH of 1075 ¥ 39 31 & 0.1 molar QIR
0.1 molar solution of the acid will 1 pH AT S
be near by :

A) 3 (A) 3
B) 7 B) 7
©) 2 ©) 2
(D) 6 (D) 6

74.  Which of the following will 74. = & ¥ f&gal ol § o
ionised maximum by mixing 3R g 2rm ?
solution in water ? (A) CHyCH, CHCL COOH
(A) CH;CH, CHCl COOH
(B) CH,CHCICH, COOH (B) CH;CHCICH, COOH
(C) CH, Br CH, COOH (C) CH,BrCH, COOH
(D) CHyCH, CCL, COOH (D) CH;CH, CCl, COOH
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75. The pH of 107° molar HCI  75. 107!° molar HCI faferM &1 pH #H
solution is approximately : T BT §
(A) 13 (A) 13
(B) 4 (B) 4
© 7 ©) 7
(D) 14 (D) 14
76. A buffer solution is used in : 76. IR faferad &1 YO BN €
(A) For increasing the pH value A) RfrM EﬁpH T 2 @ o
of the solution
(B) In the removal of PO; 3 ions (B) PO;® 3T @ FTeRr
(C) In the preparation of potash (C) Urerd fheds) 99 §
alum (D) IWE H IIg el
(D) None of the above
77. 100 ml of 1.0M HNO; is mixed 77. 1.0M HNO; & 100 ml fifers
with 10ml of 0.1M KOH. Its [H*] P0.1M KOH & 10 ml RforH & @
will be ? et W [H+] grfy ?
(A) 045 (A) 0.45
(B) 0.35 (B) 0.35
(C) 0.25 (€) 025
(D) 0.55 (D) 0.55
78.  4gm NaOH is dissolved in 1lit of ~ 78.  4gm NaOH &I 1lit U H ©reT T &,
water, molar concentration of this =P AT 2rfy ?
solution will be ? (A) 0.02M
(A) 0.02M
(B) 0.001M (B) 0.001M
©) 2M ©) 2M
(D) 0.1M (D) 0.1M
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79.  The pH of 0.001N KOH solution ~ 79. 0.001N KOH fafeR &1 pH #19 & :
1S : (A) 10—7
-7
(A) 10 B) 4
(B) 4
©) 11 (©) 11
(D) 2 D) 2
80. Solutions with reserve acidity or ~ 80. TR 3Fadl I &RAT arcl faferaa &1
alkalinity are known as : FEd ©
(A) True solutions (A) 9 fafergs
(B) Buffer solutions (B) %X fdfergs
(C) Colloidal solutions (C) URM™ fafera
(D) None of these (D) SWI ¥ Plg Tl
81. What is [H*] of 0.01M NaOH 81. 0.01M NaOH fafer= & [H*] &1 99
solution ? 2N ?
(A) 10~ 'mole/lit (A) 107 'mole/lit
(B) 1072 mole/lit (B) 1072 mole/lit
(C) 10~ 5mole/lit (C) 10~°mole/lit
(D) 10~ mole/lit (D) 10~**mole/lit
82.  Which is not a buffer solution ? 82. e # @I qur fifor 78 2 °
(A) Borax + Boric acid (A) IR + ARP 3
(B) NH,OH + NaOH (B) NH,OH + NaOH
(C) CH;COONH,
(C) CH;COONH,
(D) NH,OH + NH,CI
(D) NH,OH + NH,CI
83.  Assuming the complete  83. 0.01M NaOH @& U fdged AMaw
dissociation the pH value of 0.01M oo faferas &7 pH 4 & -
NaOH solution is : A) 14
(A) 14
(B) 4
®) 4 C) 12
©) 12 ©
(D) 0.02 (D) 0.02
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84.  An aqueous solution whose pH is 84,  Seli¥ fafern e pH @I d11 Y g,
zero will be : 21T
(A) Neutral (A) T
(B) Alkaline (B) &RJ
(C) Amphoteric (C) THRRE
(D) Acidic (D) i
85. What is the [OH™] of 0.01 M  85. [OH™] @l M 0.01 M NaOH @& forg
NaOH ? 2
(A) 1072 mole/lit (A) 102 mole/lit
(B) 1073 mole/lit (B) 1073 mole/lit
(C) 10~ mole/lit (C) 10~ mole/lit
(D) None of the above (D) SR #§ FIS 8
86. Hydrogen ion concetration of a  86. ¥ fafeR™ @1 ERSoM IMIF sl
neutral solution is : 2l B
A) 1 (A) 1
B) 7 (B) 7
(C) 14 (C) 14
(D) 0 (D) 0
87.  Mark the correct relationship : 87. Vgl gHY BT B
(A) pH =log[H"] (A) pH = log[H*]
(B) pH = log[H*]? (B) pH = log[H*]?
(C) pH = —log[H"] (C) pH = —log[H"]
(D) Log pH = [H] (D) Log pH = [H*]
88. The pH of 4gl~' NaOH solution  88. 4gl~! NaOH faferds &1 pH #F ¢ :
1s: (A) 6
(A) 6 (B) 1
(B) 1 ©) 13
) 13 D) 7
D) 7
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89. The aqueous solution of 89. CH;COONa &1 el fdfeldd &R
CH;COONa is alkaline due to 2T & | THET BRY T @ U @ |1
interaction of the following with R 2
water :

(A) NaOH (A) NaOH

(B) CH5C00~ (B) CHsCOO

(C) Na* (©) Na*

(D) CH3COONa as a whole (D) CH3COONa T Siel

90.  The pH value of +pOH is : 90. +pOH &7 A ¥ :

(A) 14 (A) 14
(B) 10 (B) 10
€ 7 ©€) 7
(D) 0 D) 0

91.  The pH of 0.005M H,S0, solution ~ 91.  0.005M H,SO,® fafers &1 pH A4

is nearly : TTIT 8§
(A) 0.005 (A) 0.005
(B) 2 ®B) 2
© 1 ©) 1

(D) 0.01
(D) 0.01

92. A solution whose pH does not 92. U& fdferas foRidr pH HI9 3l 31ar
change on adding a small amount R D T A He W T2 9o &,
of acid or alkali is called : Ped ¢
(A) Acid solution (A) 3l faferas
(B) Basic solution (B) &Ry faferm
(C) Buffer solution (C) %R fafers
(D) Neutral solution (D) dex faferg
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93. The pH oflﬁ0 Hcl solution is ; 93. %Hcl IR BT pH A g
A) 0 (A) 0
B) 1 (B) 1
(C) 10 (©) 10
(D) 13 (D) 13
94. the conductivity of a solution  94. Aferd @1 ArAdar fHR R B
depends on : (A) I & & W
A) Number of ions _ _
(&) (B) 3Rl & AT W
(B) Number of molecules
(C) Number of particles © It W
(D) All the above (D) STRIAT T4 TR
95. If the degree of dissociation of 95, Nc-p coon o1 e W’ 10%
10 3
N ; 0 ; .
m CH;COOH is 10%, its 2 TP AR ReRie 21T -
1onization constant is : (A) 10-1
(A) 1071
(B) 1072
(B) 1072
(C) 1073
(C) 1073
D) 107*
(D) 107* D)
96. The degree of dissociation of an 96. fded ﬁgﬁ Jqgcy ® fou faeeq Fife
electrolyte depends on : frR ol B
(A) Nature of the solute (A) gf%m Gl q?f%[ N
(B) Nature of the solvent (B) qildh dl q?f%[ 'Fy
(C) Concentration of the solute () ‘Eﬂ%lﬁ P Gredl ®
(D) All the above (D) IR T
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97.  ZnS is not precipitated when H,S  97.  JU I & B # H,S vaifed R
is passed through the filtrate of ZnS T T B | BT DRV
group I during salt analysis. This is g
b . (A) ZnS T & T 8

ecause : B K

B) ZnS dT HI9 QIEE
(A) Zns evaporates ®) %n 5 5T
B) K for ZnSi high
(B) Ks for ZnS is very hig (C) ZnS & faU Ky @1 9 agd &
(C) K for ZnS is very low 2T 2
(D) None of the above (D) SWI ¥ Plg Tl

98. A solution is unsaturated if its : 98. U faferr aRiq@ =T Ife
(A) lonic Product < K (A) lonic Product < K
(B) Ilonic Product > Kj (B) Ilonic Product > Kj
(C) Ionic Product = K (C) Ilonic Product = K
(D) None of the above (D) ST H PIS Tl

99.  Which of the following equation  99. f=faRgg WHexvl #H @ e
holds goods for a weak go@gIAEe & fou S g ?

? =
el.ectro.ly‘.[e. (a degree  of (o =fe & Eﬁﬁ’)
dissociation). "
() k=2 @A) k=5
a
B) K== (B) K=y
_ ©) K=%
© K=+ v
o\2 %
D) K =(%) @) K =(j)

100. The specific conductance of Nacl 100. 18°C W Nacl & fARME =reldhar
at 18°C is 0.0124 ohm™tcm™! 0.0124 ohm™tcm™! & T I @I
and the resistance of the cell IR S G R (180(:)]%%?1:[ >
containing the solution at 18°C is :
50.0 ohm. The cell constant is : ?}IH .50'0 ohm EI § Wl R
(A) 0.62 N .O 0
(B) 0.31 (B) oo
(C) 0.124 (C) 0
(D) 0.00248 (©) 0.

(D) 0.00248
Xdhkdkkk
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which All 100
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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